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TEREX4 Bt Eo gk &t HH

1 Z&H 733 741 1,474 631

2&/ 5 491 511 1,002 371

3 fit . 477 535 1,012 427

4 B 123 141 264 112

5 {85 824 828 1,652 726

6 & 138 156 294 122

7 18 28 35 63 36

8 dtFE/\f&l 342 369 711 323

9 MRE/NE 463 489 952 456
10 HEH 362 425 787 354
11EH 145 152 297 120
12 /& 367 409 776 334
13 &# 307 329 636 267
14 7 1,004 1,122 2,126 933
15 g 204 234 438 177
16 264 262 526 272
17 #4dt 126 144 270 110
18 LM 258 305 563 253
19 8288 171 182 353 150
20 thiZ 133 150 283 123
21 B1H 308 331 639 245
22 A {RHE 213 229 442 188
23 BN E—TH 609 656 1,265 496
24 A EZTH 477 508 985 374
25 teAN\E=TH 622 733 1,355 548
26 txANEMT B 633 723 1,356 540
27 TARO—T 215 239 454 158
28 #/E(I) 6 20 26 23
29 g/E(I) 3 17 20 20
30 B 24 3 27 27
31 B8 —TH 1 0 1 1
32}¢E=TH 30 36 66 40
IBMAEZTH 2 0 2 2
34 XEMTH 689 753 1,442 595
3B XEARTH 379 416 795 315
36 HEARTH 796 894 1,690 607
37 XELTH 741 780 1,521 616
38 E&&H/NTH 705 782 1,487 535
9 HXEBEATH 435 422 857 276
41 REFHE—-TH 748 694 1,442 657
51 ¥R —TH 594 558 1,152 368
52 f6ES-TH 510 544 1,054 350
53 BES=TH 569 664 1,233 439
54 FFESMTH 767 801 1,568 509
55 BBESARATH 596 610 1,206 345
56 BESNTH 0 0 0 0
57 ER+tTH 0 0 0 0
58 FBES/\TH 0 0 0 0
50 BEASATH 0 0 0 0
60 EES—THKF/* 153 178 331 129
61 FES _-_THAVI R 103 111 214 81
62 7X-w=wa, d—} 151 178 329 117

X & & X 18,039 19,399 37,438 14,898



